18

G1
Gl.1 G18-1 ZBJ51004—1989

G18-1 mm

Ph

do 1 2 | 25 | 3 4|5|6|8|10‘12|16‘20|25‘32|40

Gl.2

JB/T3162.1—1991

G18-2

20 2

25 25

30 3

H|Z|ala|x
alg|f|IN|®m
LT I N ST Y NS T
WD B W N -

35 35




273

(

)

10

10

45

40

45

()

CDMS50 10-3-P3

CS

J

10mm

50mm

G18~5

G18-3~

JCS

Gl1.3,

G18-3 JCS

| CBM




274

ikl

Dy, P,

De
do
d

-—- 17/
i




WHE ##3 M
M

THim #HAM




276

G185 JCS (mm)
6 8 10 12 16 20 25 32 40 45 63 80
1 120 160 200 260 300 400 400 800 1200 1500 1800 2000
2 150 200 250 350 480 600 800 1100 1500 2000 2200 2800
3 150 200 250 350 480 600 1000 1200 1600 2000 2200 2800
4 180 240 350 450 560 800 1100 1300 2000 2200 2500 2800
5 200 320 450 500 750 1000 1200 1500 2000 2500 2700 2800
Gl14 FD G18-6 G18-7
G18-6
FD
h'l
WAE
ol - -
|- ]
_r . J-—;Q—E __
= N
|
- 1SH— - —
|
1]
, [ 1] u
Bl E T
Ly
G18-1 G18-8
Gl.5
80~100mm
JB/T3162.4—1993 G18-2 G18-9
16~63mm G18-3 G18-10



120°%

AN
—— - —+ 7'——,5_+ }
|
s e 1 ™ LS
ARARA ABAR B
b) (I #)

G18-1

c) (II#)

16~63mm

277



278

G18-8 dy 16~63mm (mm)
16 20 25 2 40 50 63
d 12 15 17 20 30 35 50
MI2x 125 Ml4x 1.5 Mi16x 1.5 M20x 1.5 M30x 1.5 M33x 1.5 M48x 1.5
6h 6g
d 10 12 14 16 2 30 45
L 54 ‘ 64 60 ‘ 71 69 ‘ 83 7 | 87 88 | 107 94 ‘ 115 116 | 143
L 17 18 26 26 30 36 0
L 95 ‘ 105 111 ‘ 122 126 ‘ 140 | 139 | 154 179 | 198 | 211 ‘ 232 | 269 | 296
3 4 5 5 8 8 14
N9
1.89! 2,501 3.09! 3.09! 4.092 4,092 5.5
18 25 25 32 50 70 100
H14
e 25 25 25 4 5 5 5
el 458 572 572 6.68 9.15 16 16
I A L - T T T T T
W 54 58 58 73 8.8 132 132
W, 55 65 65 8.0 9.8 144 144
& 8.7 11 133 157 268 268 40.7
0 0 0 0 0 0 0
8 8'0—0‘2 10—0.2 12—0424 14—0.24 24—0.52 24—0.52 36—1.0
m 5.7 5.7 13 13 25 25 48
Sx H 14x 17 17x 22 20% 24 27% 30 32% 36 41x 46 55% 55
7602012TN 7602015TN 7602017TN 7603020TN 7603030TN 7603035TN 7603050TN
i‘lﬁ —= = ——_'ﬁ-———r%‘
. 1 — rT e
L, L
) L
d -
% a) (18)
gﬁ S
L2 L
’ I
b) (&)
= — b -
.
L |
¢) (E)
G18-2 80~100mm



279

G18-9 80~100mm (mm)
M
d d] L1 L2 L b [ e
t
do
76 269 0n ZARN70130
80 | 70 | Mésx 2 65 ) 18 7.0, 125 L3 ——
6h 97 290 ZARN70130L
N9 Hl4
6g 106 328 0 ZARN90180
100 | 90 | Moox 2 85 ) 2 9.0, 160 L ——
131 353 ZARN9O1S0L
G18-11
G18-11
— d « ) dy
Sl
R/um Ry/um
123 | j5 b5 04 s hs 04
45 6 h6 08 6 h6 08
7 10 7 W7 16 7 W7 16
L
L ! Gl.6
G18-3
G18-10 mm
G
J
dO d dz L1 m L
G G-G
16 12 s | o1ar | oLt 13 | so301 G-J
G-Z J-J G-J
20 15 45 | 1s1 | oLt 15 | 80302
18-7
25 17 162 161 1.15014 16 80303
0 G2
kY) 20 190 | 171 | 1% 17 | 80304
F(N) i i
40 30 286 | 220 1.3*?)-14 2 | 80306 '
=l 2 n
50 35 30 | 242 | 179 25 | 80307 i ny(r/min)
0.14 ' tih)
63 0 | 470 | 305 | 22%0 2 | 80310 .
0 Vmax(mMm/min)
80 70 670 | 396 | 27°0M | a5 | so314 In(h)
( )
100 90 865 | 477 | 27°01 | 53| so3s




280

G2.1 G2.3
1
G2.4
18-29
A
2 5Ph Fpl
1 18-41 A=al At
f(‘i fj §Ph:APh/ls
2 ng Fpi=AEA/l
- ity o 20~100 o=
i 112 109
=1 2 n Nmax  Mmin I mm
ng= ( Mpaxtmin) /2 At——
3 Fy Pi— mm
MNTE E— 2.1x 10° MPa
Font,
Fd — 1 171
[2 nt; ] A— A :%dzz mm’
=1 2 n Froax  Fain d, mm
Fd: (2 FmaerFmin) /3 (}25
4 Py P
PhZ Vmax/nmax
5 L, (1) Re
Ln:60ndLh RS RN
6 ny 10 R
G 1 11 1
. 2 713 2 R RTR
C, =fiFy 102 L, Re Rs Ry R
nds 10 Coa’ 1 RS
Coa” =fiFmax G-Z
3 R = nd3E
P, C, Coa 40001,
G18-4 G18-8 G-G
Py G G Ry - T3E
Coa Coa' 1000/
2 Ry
G2.2 Ry =—E

~ 10007



281

A— mm? G184  G18-8
G2.6
r— mm (Fp) (Fo=F4/3)
3 R 18-33 (Fy=0.1Cy)
18-36 Pr#z 0.1C,
r loP (1-n*)x107
R =R- far(Fp/0.1/Cp)" "oy
far G18-4 G18-7 n— 4 4 0.9
2 0.85
0=F4/R. G3
3 0,
G3.1
N — ZB3162.2—1991 1 2
0,5.17x 10" dogf 345 T
N e,
Vip 300mm
Vioop 2T Vo
52:4.31510‘4.3 fdzz G18-13 G18-14
sina dyZz sin” a 135 I1SO/DIS3408—3 1Tl
IT3 ITS
G18-13 Iy e,
5 - 7.55.><10_5 . (f;j”o . Vup
sina (1, -2r)"% )7 sin’ & nm
Z; lwmm 1 2 3 4 5
¢ ’ ep | Vup | ep | Viup | ep | Vup | ep | Vup | ep | Vip
Iy mm 3506 6 | 8] 8 |12] 12| 16| 16| 23| 23
r mm 350400 | 7| 6 | 9| 8 [13] 12|18 |17 |25/ 25
400 | 500 | 8 | 7 [10] 10 [15] 13| 20| 19 | 27 | 26
[9] 500 (630 | 9| 7 [11] 11 |16] 14| 22| 21|30 29
630 [ 800 | 10| 8 [13| 12 [18] 16 | 25| 23 | 35| 31
800 [1000| 11| 9 |[15] 13 [21] 17 | 29| 25 | 40 | 33
1000 [ 1250 | 13| 10 |18 | 14 |24 | 19 | 34 | 29 | 46 | 39
1250 [ 1600 | 15| 11 [21| 17 [29| 22 | 40 | 33 | 54 | 44
G18-12 fy fi 1600 (2000 | 18 | 13 [25| 19 | 35| 25 | 48 | 38 | 65 | 51
Ja A 2000 (2500 22 | 15 [30| 22 [41] 29 | 57| 44 | 77| 59
10~12 10-20 2500 3150 26 | 17 |36 25 [50| 34 | 69 | 52 | 93 | 69
Lol 2030 3150 (4000 | 32| 21 |45| 31 |62| 41 [ 86 | &2 [ 115 &2
4000 [ 5000 | — | — | —| — | 76| 49 | 110| 74 | 140| 99
1523 20-30 5000|6300 | —| — |—| — |—=| — | —=| = | =119




282

G18-14 300mm V300p
2 Vom um
1 2 3 4 5 7 10 G4-2
Vaoop 6 8 12 16 23 52 210
Vo 4 5 6 7 8 — —
G3.2
G18-15
20
G18-15
30
) NBU15 90 180
3 4 G4.3
57
1
G4
G4.1
G18-4
2
3 5 1.4~1.6
T .
— —L
a) b)
G18-4



283

G18-4 JCS (mm)
Ca R

d P Dy d b CN N N pm D |D|Ds| Dy | B |Ds | Ds | h | L L | C | 4 M X Y F
WCMI1202—3.5 12 2 15 11.8 10.5 35x 1 | 3008 6695 230 25 | — | 48|36 |8 48 | 85 | 5 | 30 — | = — — | — — 31
WCMI1202—2.5 12 25 2 11.7 100 25x 1 | 3207 6017 165 26 | — | 48|36 | 8 48 | 85 [ 5 | 30 — | = — — | — s 31
WCMI1203—2.5 12 3 2 11.7 10.0 25% 1 | 3203 6011 165 28| — |50 |38 ]| 10|48 |85 |5 |30 — | = — — | — — 32
WCM1602—3.5 16 2 15 158 14.5 35x 1 | 3382 8950 288 32| — |58 |45 |11 |58 |10 |6 |34 — | = — — | — s 37
WCM1602.5—2.5 16 25 2 15.7 14.0 25x 1 | 3781 8504 218 32| — |58 |45 |11 |58 |10 |6 |34 — | = — — | — s 37
WCM1603—2.5 16 3 2 15.7 14.0 25x 1 | 3778 8499 218 2 — | 58|45 |11 | 58|10 |6 |35 — | = — — | — — 37
WCM1605—2.5 16 5 3.175 15.5 128 25% 1 | 6663 12441 217 40 | — | 66 | 53 |11 |58 |10 |6 |42 — | = — — | — s 42
WCT2002—5 20 2 L5 19.8 185 25% 2 | 5012 16003 481 32| —|62]5 (9 58 [ 10 | 6 | 40 — | = — — | — s 54
CBM2004—5 20 4 2381 19.7 17.0 25% 2 | 5862 14361 608 40 | — | 66 | 53 |11 |58 |10 |6 |57 — | — 13 M6 | — — —
CDM2004—2.5 20 4 2381 19.7 17.0 2.5% 1 5862 14361 608 40 | — | 66 | 53 |11 |58 |10 |6 |76 27 | 4 3 M6 | — s s
CDM2004—5 20 4 2381 19.7 17.0 25% 2 | 10639 28722 1178 40 | — | 66 | 53 |11 |58 |10 [6 [ 100 | 39 | 4 3 M6 | — — —
CBT2005—5 20 5 3175 19.5 16.1 25% 2 | 8451 18352 612 36 | — | 60 | 48 | 11 |58 |10 | 6 | 67 — | — 13 M6 | 26 26 —
CBM2005—5 20 5 3.175 19.5 16.1 25% 2 | 8451 18352 612 45 | — | 70 | 56 | 11 | 58 | 10 | 6 | 67 — | —13 M6 | — s s
CDM2005—5 20 5 3175 19.5 16.1 25% 2 | 15338 36704 1186 45 | — | 70 | 56 | 11 | 58 [ 10 | 6 | 116 | 47 | 4 3 M6 | — — —
DCT2010—2.5 20 10 3.969 19.5 15.1 2.5% 1 11494 23545 309 40 | — |66 | 53 | 13 |58 |10 |6 |73 46 | 8 6 M6 | 26 28 s
DCM2010—2.5 20 10 3.969 19.5 15.1 2.5% 1 11494 23545 309 50| — |76 |63 | 15|58 |10 [6 |68 — | —16 M6 | — s s
DCDM2020—1.5 20 20 3.969 19.5 15.1 1.5% 1 7072 13631 366 5313 |76 | 63|13 |58 |10 |6 | 138|205 9 M6 | — — —
DCT2020—3 20 20 3.175 19.5 16.1 15% 2 | 9647 22159 334 40 | — | 66 | 53 | 15|58 |10 |6 |8& 52|10 | 10 M6 | 26 28 s
DCT2020—2.5 20 20 3.969 19.5 15.1 25% 1 10937 22718 286 40 | — |66 | 53 | 15|58 |10 |6 107 [ 72| 10 | 10 M6 | 26 28 s
DCM2020—2.5 20 20 3.969 19.5 15.1 25% 1 10937 22718 286 50— |76 |63 |15|58 |10 |6 | 9% — | — |8 M6 | — — —
DCT2020—5 20 20 3.175 19.5 16.1 25% 2 | 14968 36932 543 40 | — |66 | 53 | 15|58 |10 |6 107 [ 72| 10 | 10 M6 | 26 28 s
CBM2504—5 25 4 2381 | 247 220 25% 2 | 6519 18408 740 50— |76 |63 |11 |58]|10 |6 |57 — | — 13 M6 | — — —




284

()
Ca R

d P, D d b N N N- um D |D |Ds | Dy |B |Ds | Ds | h | L L | C |4 M | X Y
CBM2505—5 25 5 3175 | 245 21.1 25%x 2 | 9463 23500 745 50— |76 |63 |11 |58 ] 10 [6 |67 — | — 13 M6 | — —
CBT2505—5 25 3175 | 245 21.1 25x 2 | 9463 23500 745 40 [ — | 66 [ 53 | 11 | 58 |10 [ 6 | 65 — | —13 Mé | 30 28
CDM2505—5 25 5 3175 | 245 21.1 25% 2 17176 46999 1442 50— |76 |63 |11 |58 |10 |6 [ 116 |47 |5 3 M6 | — —
CBT2506—5 25 6 3.696 | 245 20.1 2.5% 2 12634 28686 755 40 [ — | 66 [ 53 |11 |58 |10 [6 |75 — | — 14 M6 | 31 28
CBM2506—5 25 6 3969 | 245 20.1 2.5% 2 12634 28686 755 50| — |76 |63 |11 |58 ]10 |6 |75 — | —13 M6 | — s
CDM2506—5 25 6 3969 | 245 20.1 25%x 2 | 22930 57372 1461 50 — |76 |63 | 11 [ 58|10 |6 [ 134 |54 |7 3 M6 | — —
CBM2510—3 25 10 4763 | 245 192 1.5% 2 10296 20502 471 60 | — [9 |75 [ 13 |7 12 |7 |8 — | —18 M6 | — s
CDM2510—3 25 10 4763 | 245 192 1.5%x 2 18687 41004 913 60 | — |9 [ 75|13 |7 12 |7 | 146 | 55 | 11 | 8 M6 | — —
CDM2512—2.5 25 12 4763 | 245 192 2.5% 1 15903 34050 761 67 | — |95 |8 [ 15| 7 12 |7 (134|515 8 M6 | — s
DCT2520—2.5 25 20 4763 | 245 192 25% 1 16136 35467 370 50— | 863|157 12 |7 (111 | 76 | 10 | 10 M6 | 32 35
DCM2520—2.5 25 20 4763 | 245 192 2.5% 1 16136 35467 370 67 | — [ 95 | 80 | I5 12 97 — | —18 M6 | — —
DCDM2520—2.5 25 20 4763 | 245 192 25% 1 16136 35467 771 67 | 45 |95 | 80 | 15| 7 12 |7 | 181 12 |5 13 M6 | — —
DCDM2525—1.5 25 25 4763 | 245 192 1.5% 1 10174 20924 457 67 |45 | 95 |8 | I8 | 7 12 |7 [ 167 |20 | 6 10 M6 | — —
DCT2525—3 25 25 3969 | 245 20.1 1.5%x 2 14417 34628 411 50— | 8|63 | 157 12 |7 [ 105 |66 | 12 | 12 M6 | 32 35
DCT2525—2.5 25 25 4763 | 245 192 25% 1 15787 34874 358 50— | 8|63 | 157 12 |7 (130 | 91 | 12 | 12 M6 | 32 35
DCM2525—2.5 25 25 4763 | 245 192 2.5% 1 15787 34874 358 67 | — |95 |8 [ 15| 7 2 (7105 | —|—19 M6 | — —
DCT2525—5 25 25 3969 | 245 20.1 25%x 2 | 22370 57714 669 50 — | 78|63 |15 12 |7 (130 | 91 | 12 | 12 M6 | 32 35
CBM3204—3 32 4 2381 | 317 290 1.5% 2 | 4628 14175 552 56 | — | 84 | 71 | 11 [ 58 | 10 | 6 | 52 — | —13 M6 | — s
CBM3204—5 32 4 2381 | 317 29.0 25%x2 | 7181 23624 898 56 | — | 8 |71 | 11 | 58 |10 [ 6 [ 60 — | — 13 M6 | — —
CBM3205—5 32 5 3175 | 315 28.1 2.5% 2 10605 30704 918 60 | — [9 |75 [ 13 |7 12 |7 | 64 — | —13 M6 | — —
CBT3205—5 32 5 3175 | 315 281 25% 2 10605 30704 918 50 — |8 |67 |13 ]7 12 |7 |69 — | —15 M6 | 37 33
CBM3205—7 32 5 3175 | 315 28.1 35% 2 14164 42985 1265 60 | — [9 |75 (13 |7 12 |7 |74 — | —13 M6 | — —
CBT3205—7 32 5 3175 | 315 28.1 35% 2 14164 42985 1266 50| — |8 67| 137 12 1779 — | —15 M6 | 37 33
CDM3205—5 32 5 3175 | 315 281 25% 2 19249 61407 1778 60 | — |9 [ 75|13 |7 12 |7 | 117 |46 |5 3 M6 | — —




285

(
Ca R

d P, D d b CN N N- pm ! D | D | Ds Dy | B |Ds | Ds | h | L L C |4 M | X Y
CBM3206—3 32 6 3969 | 315 27.1 1.5x 2 | 9321 22984 584 60 | — | 90 751317 12 |7 ] 63 — | — 13 M6 | — —
CBM3206—5 32 6 3969 | 315 271 25% 2 | 14462 38306 950 60 | — | 90 75 | 13 12 (7|7 — | — 13 M6 | — —
CDM3206—5 32 6 3969 | 315 27.1 25% 2 | 26250 76631 1839 60 | — [ 9 751 13 |7 12 |7 | 136 | 54 7 3 M6 | — —
CBM3208—3 32 8 4763 | 315 26.1 15x 2 | 11941 27494 598 67 | — | 104 | 8 | 15 |9 15 {9 | 78 — | — 15 M6 | — —
CBM3208—5 32 8 4763 | 315 262 25% 2 | 18528 45828 974 67 | — | 104 | 8 | 15 |9 15 {9 | %4 — | — |5 M6 | — s
CDM3208—3 32 8 4763 | 315 26.2 1.5x 2 | 21673 54994 1159 67 | — | 104 | 8 | 15| 9 15 19 | 135 | 53 5 5 M6 | — —
CDM3208—5 32 8 4763 | 315 262 25% 2 | 33629 91657 1885 67 | — | 104 | 8 | 15 |9 15 [ 9 | 167 | 69 5 5 M6 | — —
CBT3210—3 32 10 | 635 31.0 243 1.5% 2 | 16698 34158 587 531 —19 7111519 1519 (9 — | — 18 M6 | 41 39
CBM3210—3 32 10 | 635 31.0 243 1.5% 2 | 16698 34158 587 71| — | 110 |9 | 159 15 {9 | 9 — | — |8 M6 | — —
CBT3210—5 32 10 | 635 31.0 243 25% 2 | 25909 56930 955 531 —19 7111519 1519|110 — |—|8 M6 | 41 39
CBM3210—5 32 10 | 635 31.0 243 25% 2 | 25909 56930 955 71| — |10 |9% | 159 5 (9|10 |— | —|38 M6 | — —
CDM3210—3 32 10 | 635 31.0 243 1.5% 2 | 30307 68316 1136 71| — | 110 | 9% |15 |9 15 [ 9 | 149 | 58 6 7 M6 | — —
CDM3210—5 32 10 | 635 31.0 243 25% 2 | 47026 113861 1849 71— [ 110 | 9 | 15| 9 15 19 | 189 | 78 6 7 M6 | — —
DCT3220—2.5 32 20 | 4763 | 315 262 2.5% 1 18141 45090 452 56 | — | 9% 711519 15 (9 | 111 |76 10 | 10 Mé | 38 38
DCM3220—2.5 32 20 | 4763 | 315 26.2 2.5% 1 18141 45090 452 75 | — | 110 | 9 | 18 | 9 1519|104 — | —]10 M6 | — —
DCDM3220—2.5 32 20 | 4763 | 315 262 2.5% 1 18141 45090 941 75 | 53 | 110 | 90 | 18 | 9 15 {9 | 182 | 20 5 8 M6 | — —
DCT3225—2.5 32 25 4763 | 315 26.2 2.5% 1 17892 44614 442 56 | — | 90 71219 15 19 | 130 | 91 12 | 12 M6 | 38 38
DCM3225—2.5 32 25 4763 | 315 262 2.5% 1 17892 44614 442 75 | — | 110 | 90 | 18 | 9 5 (9|15 | — | —1|9 M6 | — —
DCDM3225—2.5 32 25 4763 | 315 26.2 2.5% 1 17892 44614 920 75 | 53 | 110 | 90 | 18 | 9 15 19 | 218 | 20 6 10 M6 | — —
DCDM3232—1.5 32 32 | 4763 | 315 262 1.5% 1 11616 27536 567 75 | 53 | 110 | 90 | 22 | 9 15 {9 | 213 |2 8 12 M6 | — —
DCM3232—2.5 32 32 | 4763 | 315 262 25% 1 18023 45893 4 75| — | 110 | 90 | 22 | 9 15 (9|14 | — | — |12 M6 | — —
DCT3232—2.5 32 32 | 4763 | 315 26.2 2.5% 1 18023 45893 444 56 | — | 90 71219 15 |9 | 157 | 111 | 15 | 16 M6 | 38 38
DCT3232—3 32 32 | 4763 | 315 262 15%x 2 | 21083 55072 528 56 | — | 9% 711519 15 {9 12579 15 | 16 Mé | 38 38
DCT3232—5 32 32 | 4763 | 315 26.2 25% 2 | 32713 91787 859 56 | — | 90 7111519 15 |9 | 157 | 111 | 15 | 16 M6 | 38 38




286

()
Ca R

do Py Dy di d N N N- pm D |D | Dy | Dy | B| Ds | Ds | h L L c| 4 M X | Y

CBT4005—5 40 5 3175 | 395 361 | 25% 2 11675 38934 1106 — | % 750151 9 519 | 7 — | —| 5 Mé 38
CBM4005—5 40 5 3175 | 395 361 | 25%x2 11675 38935 1106 67 | — | 104 8 | 15| 9 5197 — | — 3 Mé — | —
CBT4005—7 40 5 3175 | 395 36.1 | 35x2 15592 54509 1524 | 60 | — | %4 751151 9 1519 81 — | —| 5 M6 44| 38
CBM4005—7 40 5 3175 | 395 36.1 | 35x2 15592 54509 1524 | 67 | — | 104 | 8 [ 15| 9 1519 81 — | —1 3 M6 — | —
CDM4005—5 40 5 3175 | 395 36.1 | 25%2 | 21190 77870 2141 67 | — | 104 8 | 15| 9 509 |19 4 | 5 3 Mé — | —
CBM4006—5 40 6 | 3969 | 395 351 | 25x 2 15851 47985 1131 71— | 10| 9% | 15| 9 1519 | — | —1| 3 M6 — | —
CBM4006—7 40 6 | 3969 | 395 351 | 35x2 | 21171 67179 1559 71— | 10| 9% | 15| 9 5191 9% | —1|—| 3 M6 — | —
CDM4006—5 40 6 | 3969 | 395 351 | 25x2 | 28771 95970 2191 71| — | 110 9% | 15| 9 1519 | 138 | 54 |7 3 M6 — | —
CBM4008—5 40 8 | 4763 | 395 342 | 25% 2 | 20420 57469 1162 5| — |10 9% | 15| 9 519V | —|—1| 5 Mé — | —
CDM4008—3 40 8 | 4763 | 395 342 | 15x2 | 23886 68962 1382 75— | 110 | 9 | 15| 9 1519|135 53 5 5 M6 — | —
CDM4008—5 40 8 | 4763 | 395 342 | 25x 2 | 37063 114937 2249 750 — | 10| 9% | 15| 9 1519 | 167 | 69 5 5 M6 — | —
CBM4010—3 40 10 | 635 39 323 | 15x2 18965 44045 719 8 | — | 128 | 105 | 18 | 11 (1|92 | —|—| 8 Mé — | —
CBT4010—5 40 10 | 635 39 323 | 25% 2 | 29427 79409 1170 63 | — | 108 | 8 | 18 [ 11 8 (11 (12| —|—f 8 Mé 49 | 44
CBM4010—5 40 10 | 635 39 323 | 25%x 2 | 29427 73409 1170 8 | — | 128 | 105 | 18 | 11 ||| —|—\ 8 M6 — | —
CBM4010—3 40 10 | 635 39 323 | 15x 2 | 34423 88091 1392 8 | — | 128 | 105 | 18 | 11 18 | 11 | 170 | 65 9 7 M6 — | —
CBT4010—7 40 10 | 635 39 323 | 35x2 | 39302 102772 1612 63 | — | 108 | 8 | 18 [ 11 8 (11 (132 — | —| 8 Mé 49 | 44
CDM4010—5 40 10 | 635 39 323 | 25%x 2 | 53411 146818 2265 8 | — | 128 | 105 | 18 | 11 18 | 11 | 194 | 78 6 7 Mé — | —
CBM4012—5 40 12 | 7144 | 385 312 | 25% 2 | 34362 82360 1187 90 | — | 132 ) 110 | 18 | 11 (1| 17| —|—1 8 Mé — | —
CDM4012—5 40 12 | 7144 | 385 312 | 25% 2 | 62368 164721 2298 90 | — | 132 | 110 | 18 | 11 18 | 11 | 224 | 90 | 11 8 M6 — | —
DCT4020—2.5 40 20 | 635 39 323 | 25x 1 30083 76553 577 71| — | 12| 9 (22| 11 18 | 11 | 122 | 8 | 10 | 10 M10x 49 | 47
DCM4020—2.5 40 20 | 635 39 323 | 25%x 1 30083 76553 571 8 | — | 128 | 105 | 22 | 11 8 (11 (107 | — | —| 8 M10x — | —
DCDM4020—2.5 40 20 | 635 39 323 | 25%x 1 30083 76553 1200 85 | 64 | 128 | 105 | 22 | 11 18 [ 11 | 214 | 25 | 10 | 10 M10x — | —
DCT4020—3 40 20 | 635 39 323 | 15x2 | 35190 91864 687 7| — | 12| 9% (22| 11 18 | 11 | 142 | 100 | 10 | 10 M10x 49 | 47
DCM4020—3 40 20 | 635 39 323 | 15x2 | 35190 91864 687 8 | — | 128 | 105 | 22 | 11 1127 — | —| 8 M10x — | —
DCDM4020—3 40 20 | 635 39 323 | 15x2 | 35190 91864 1428 85 | 64 | 128 | 105 | 22 | 11 18 | 11 | 254 | 25 | 10 | 10 M10x — | —




287

()
Ca R

do P, D d b N N N pm D |D | Ds | Dy | B|Ds| Ds | h L L C| 4 M X Y

DCT4025—2.5 40 25 | 635 39 323 | 25%x 1 29814 76027 569 71— [ 12| 9 | 22| 11 | 18 [ 11| 136 | 93 | 10| 12 MI10x 1 49 | 47
DCM4025—2.5 40 25 | 635 39 323 | 25%x 1 29814 76027 569 8 | — [ 128 (105 (22 ( 11 | I8 | 11| 123 | — | —| 9 Mi10x 1 — | —
DCDM4025—2.5 40 25 | 635 39 323 | 25%x 1 29814 76027 1183 8 [ 64 | 128 | 105 | 22 | 11 | 18 | 11 | 223 | 25 7 12 MI10x 1 — | —
DCT4025—3 40 25 | 635 39 323 | 15x 2 | 34875 91232 677 71| — | 12| 9 |22 11 | 18 | 11| 161 | 118 | 10 | 12 MI10x 1 49 | 47
DCM4025—3 40 25 | 635 39 323 | 1.5x 2 | 34875 91232 671 8 | — [ 128 (105 (22 ( 11 | 18 | 11| 148 | — | —| 9 Mi10x 1 — | —
DCDM4025—3 40 25 | 635 39 323 | 15x2 | 34875 19232 1408 8 [ 64 | 128 | 105 | 22 | 11 | 18 | 11 | 273 | 25 7 12 MI10x 1 — | —
DCT4032—2.5 40 32 | 635 39 323 | 25%x 1 29352 75119 555 71| — | 12| 9 |22 11 | 18 | 11| 164 | 111 | 15| 16 Mi10x 1 49 | 47
DCM4032—2.5 40 32 | 635 39 323 | 25%x 1 29352 75119 555 8 | — [ 128|105 |22 | 11 | I8 [ 11| 141 | — | —]| 9 M10x 1 — | —
DCDM4032—2.5 40 32 | 635 39 323 | 25%x 1 29352 75119 1154 85 | 64 | 128 | 105 | 22 ( 11 | 18 | 11 | 271 | 25 | 10 | 14 Mi10x 1 — | —
DCDM4040—1.5 40 40 | 635 39 323 | 15%x 1 18507 44319 684 8 | 64 | 128 | 105 | 28 | 11 | 18 | 11 | 263 | 25 | 10 | 15 M10x 1 — | —
DCT4040—2.5 40 40 | 635 39 323 | 25%x 1 25718 64569 485 71| — | 12| 9 |22 11 | 18| 11|19 | 9% |17 | 21 Mi10x 1 49 | 47
DCM4040—2.5 40 40 | 635 39 323 | 25%x 1 25718 64569 485 8 | — | 128 [ 105 | 28 | 11 | 18 | 11 | 174 | — | — | 12 Mi10x 1 — | —
DCT4040—3 40 40 | 635 39 323 | 15x2 | 33529 88638 637 71| — [ 12| 9 | 22| 11 | 18 | 11| 14| 9 | 15| 17 M10x 1 49 | 47
CBM5005—5 50 5 | 3175 | 495 46.1 | 25x 2 12795 49222 1328 80 | — | 114 | 95 [ 15( 9 1519 71 — | —1 3 Mé — | —
CBT5005—5 50 5 | 3175 | 495 46.1 | 25x2 12795 49222 1328 71— 110] 9 | 15| 9 1519 71 — | — 3 M6 54 | 43
CBT5005—7 50 5 | 3175 | 495 46.1 | 35x2 17089 68911 1830 | 71 | — | 110 | 90 | 15| 9 1519 81 — | —1 3 Mé 54 | 43
CBMS5005—7 50 5 | 3175 | 495 46.1 | 35x2 17089 68911 1830 | 80 | — [ 114 | 95 | 15| 9 1519 81 — | — 3 M8x 1 — | —
CDM5005—5 50 5 | 3175 | 495 46.1 | 25x 2 | 23224 98444 2572 80 | — | 114 | 95 [ 15( 9 159 |128) 5 | 6 3 M8x 1 — | —
CBM5006—5 50 6 | 3969 | 495 451 | 25x 2 17449 60847 1362 8 | — | 120 | 100 | 15 9 1519 | —|—| 3 M8x 1 — | —
CBMS5006—7 50 6 | 3969 | 495 451 | 35x2 | 23305 85186 1877 8 | — [ 120 | 100 | 15 | 9 1519 | —|—]| 3 M8x 1 — | —
CDM5006—5 50 6 | 3969 | 495 451 | 25x2 | 31671 121694 2638 8 | — | 120 | 100 | 15 9 1519|140 | 5 | 5 3 M8x 1 — | —
CBM5008—5 50 8 | 4763 | 495 442 | 25x2 | 22709 73662 1413 8 | — [ 128 [ 105 | 18 [ 11 | I8 | 11| 98 | — | — | 5 M8x 1 — | —
CDMS5008—5 50 8 | 4763 | 495 442 | 25x 2 | 41218 147324 2735 8 | — [ 128 | 105 | 18 | 11 | 18 [ 11 | 171 | 69 | 5 3 M8x 1 — | —




288

()
Ca R
do P Do d b CN N N pm! D | D | Dy | Dy B Ds | Ds h L L Cc| 4 M X Y
CBM5010—3 50 10 | 635 49 423 | 15x2 | 21238 56399 874 95 | — | 140 | 118 | 18 11 18| 11 92 — | =17 M8x 1 —_ | —
CBT5010—5 50 10 [ 635 49 423 | 25x 2 | 32953 93999 1422 75 | — | 118 | 95 18 11 81| 2| —|—|3 M8x 1 58 | 50
CBM5010—5 50 10 | 635 49 423 | 25x2 | 32953 93999 1422 95 | — | 140 | 118 | 18 11 18| 11 1M — [ =17 M8x 1 —_ | —
CDM5010—3 50 10 [ 635 49 423 | 15x 2 | 38547 112798 1692 95 | — | 140 | 118 | 18 11 18 | 11 | 154 | 58 6 7 M8x 1 — | —
CBT5010—7 50 10 | 635 49 423 | 35x 2 | 44012 131598 1960 75 | — | 118 | 95 18 11 811 | 132 —|—|3 M8x 1 58 | 50
CBM5010—7 50 10 [ 635 49 423 | 35x 2 | 44012 131598 1960 95 | — | 140 | 118 | 18 11 8 11 | 132 — [ — M8x 1 — | —
CDM5010—5 50 10 | 635 49 423 | 25x2 | 59811 187997 2753 95 | — | 140 | 118 | 18 11 18 | 11 | 194 | 78 6 7 M8x 1 —_ | —
CBM5012—5 50 12 | 7144 | 485 | 412 | 25% 2 | 39348 108290 1478 100 | — | 152|125 | 22 [ 135 | 22| 13 | 123 | — | —| 8 M8x 1 — | —
CDM5012—5 50 12 | 7144 | 485 | 412 | 25x 2 | 71417 | 216580 2863 100 | — | 152 | 125 | 22 | 135 | 22 | 13 | 231 | 93 8 8 M8x 1 — | —
CDM5020—3 50 20 | 7938 | 485 | 403 | 15x2 | 51118 136988 1697 110 | — | 158 | 132 | 28 | 135 | 22 | 13 | 263 | 101 | 10 | 14 M8x 1 — | —
DCM5025—2.5 50 25 | 7938 | 485 | 403 | 25x 1 | 40263 104574 643 110 | — | 158 | 132 | 28 | 135 | 22 | I3 [ 14| — | — | 9 M10x 1 — | —
DCT5025—2.5 50 25 | 7938 | 485 | 403 | 25%x 1 | 44958 119629 1 8 | — [ 136 | 110 | 28 | 135 | 22 | 13 | 149 | 97 | 12| 12 | MIOx 1 61 | 57
DCT2025—3 50 25 | 7938 | 485 | 403 | 15x2 | 52590 143555 846 8 | — | 136 | 110 | 28 | 135 | 22 | 13 | 174 | 122 | 12 | 12 | MIOx 1 61 | 57
DCDM5032—2.5 50 32 | 7983 | 485 | 403 | 25x 1 | 39856 103759 1316 105 | 80 | 156 | 130 | 28 | 135 | 22 | 13 | 277 | 25 10 | 14 | MI0x 1 —_ | —
DCT5032—2.5 50 32 | 7938 | 485 | 403 | 25x 1 | 44503 118697 699 8 | — | 136 | 110 | 28 | 135 | 22 | 13 | 177 | 118 | 15 | 16 | MIOx 1 61 | 57
DCM5032—2.5 50 32 | 7938 | 485 | 403 | 25%x 1 | 44503 118697 699 110 | — | 158 | 132 | 28 | 135 | 22 | 13 | 147 | — | —| 9 MI10x 1 — | —
DCDM5032—3 50 32 | 7983 | 485 | 403 | 15x 2 | 46622 124511 1566 105 | 80 | 156 | 130 | 28 | 135 | 22 | 13 | 341 | 25 10 | 14 | MI10x 1 — | —
DCT5032—3 50 32 | 7938 | 485 | 403 | 1.5x2 | 52028 142436 831 8 | — [ 136 | 110 | 28 | 135 [ 22 | 13 | 209 | 150 | 15| 16 | MIOx 1 61 | 57
DCDM5040—2.5 50 40 | 7983 | 485 | 403 | 25x 1 | 39286 102615 1286 105 [ 80 | 156 | 130 | 28 | 135 | 22 | 13 | 346 | 25 | 12| 20 | MIOx 1 — | —
DCT5040—2.5 50 40 | 7938 | 485 | 403 | 25x 1 | 43867 117388 683 8 | — [ 136 | 110 | 28 | 135 [ 22 | 13 | 207 | 142 | 17 | 20 | MIOx 1 61 | 57
DCDM5050—1.5 50 50 | 7983 | 485 | 403 | 15x 1 | 24770 60541 762 105 | 80 | 156 | 130 | 28 | 135 | 22 | 13 | 322 | 25 12| 18 | MI0x 1 —_ | —
DCT5050—2.5 50 50 [ 7938 | 485 | 403 | 25x 1 | 38435 100902 597 8 | — | 136 | 110 | 28 | 135 | 22 | 13 | 244 | 120 | 20 | 26 | MIOx 1 61 | 57
DCM5050—2.5 50 50 | 7.938 | 485 | 403 | 25x 1 | 38435 100902 597 110 | — | 158 | 132 | 28 | 135 | 22 | 13 | 200 | — | — | 12 | MIOx 1 —_ | —




289

()
Ca R
D|\D|D|Dy|B| Ds |D | h| L | L |C| 4 M X |vY
dy Py Dy, d ) G/N N N- pm’
CBM6310—3 63 10 | 635 | 62 | 553 | 15x2 | 23892 | 73642 1079 [ 110 | — 1588 | 132 |2 | B35 |2 |B| 97| —|—| 7 M8x —
CBT6310—5 63 10 | 635 | 62 | 553 | 25x2 | 37072 | 122736 1756 | 90 | — | B8 |12 |2 | B5| 2 |B| 07| —|—| 8 M8x 71 | 57
CBM6310—5 63 10 | 635 | 62 | 553 | 25x2 | 37072 | 122736 1756 [ 110 | — [ 158 | 132 |2 | 35| 2 | B3| 07| — | —| 7 M8x — | —
CDM6310—3 63 10 | 635 | 62 | 553 | 15x2 | 43365 | 147284 208 | 110 | — [ 158 | 132 |22 | 135 | 2 | 13| 157| 88 | 6 | 7 M8x — | —
CBT6310—7 63 10 | 635 | 62 | 553 | 35x2 | 49512 | 171831 2420 | 90 | — | 18|12 |2 | BS| 2| B|BT| —|—]| 8 M8x 71 | 57
CDM6310—5 63 10 | 635 | 62 | 553 | 25%x2 | 67286 | 245473 3400 | 110 | — | 158 | 132 | 2| 135 2 | 13|197] 8|6 | 7 M8x — | =
CBM6312—5 63 12 | 7144 | 615 | 542 | 25x 2 | 42965 | 134578 1748 18 | — | 166 | 140 | 22 | 135 | 22 | 13| 12| — | —| 8 M8x — | —
CDM6312—5 63 12 | 7.144 | 615 | 542 | 25x2 | 77983 | 269156 3385 118 | — | 166 | 140 | 22 | 135 | 22 | 13| 231 | 93 | 8 | 8 M8x — | =
CBM6320—5 63 20 | 9525 | 61 | 514 | 25x2 | 62468 | 174050 1775 25| — | 176 | 150 |28 | 35| 22 | 13|18 | — | —| 15 M8x — | =
CDM6320—3 63 20 | 9525 | 61 | 514 | 15x2 | 73072 | 208861 2112 125 — | 176 | 150 | 28 | 135 | 22 | 13 | 266 | 101 | 10 | 17 M8x — | —
CDM8010—5 80 10 | 635 | 79 | 723 | 25x2 | 73787 | 311479 4089 | 130 | — [ 186 | 160 | 22 | 135 | 2 |13 19| 79 | 6 | 7 M8x — | —
CDM8016—S5 80 16 | 9525 | 78 | 684 | 25x2 | 129033 | 459654 4295 | 150 | — | 206 | 180 | 28 | 135 | 22 | 13| 302 | 120 | 14 | 10 M8x — | =
CDM8020—S5 80 20 | 9525 | 78 | 684 | 25x2 | 128843 | 459133 4285 | 150 | — [ 206 | 180 | 28 | 135 | 22 | 13| 346 | 141 | 10 | 17 M8x — | —
1.G 10°
F 1/3
2. CBT CBM CDM DCDM R F=0.1G, F< 03C, F#01C, R =R far|—2
1/3 0.1C,
WCM DCT DCT— DCM R F=03C, F#03CG, R =R far
0.3C,
3. Jar 1 fw=06 2 3  fw=055 4 5  fw=05 7 10  fu=04




290

G18-7 FD (mm)
R

d P, d, d CN CN N pm'l Dy | D, ! Ds B Dy Ds Ds h Dy M Dy T L E
FD1204—3 12 4 2381 113 3 4000 6700 417 2 (2] 10| 4 8 32 48 | 85 5 32 @2 15 3 63(60) 3
FD1604—3 16 4 2381 153 3 5100 9700 442 28 | 28 10 50 10 38 58 10 6 34 M6 20 3 65(62) 3
FD2004—3 20 4 3 19.0 3 7500 14500 519 36 | 35| 10 | 60 11 48 58 10 6 40 M6 25 3 72(69) 4
FD3204—3 32 4 3 31.0 3 10300 26900 823 50 | 50 | 10 76 11 63 58 10 6 56 M6 38 3 72(69) 4
FD3204—5 32 4 3 31.0 5 16000 44900 1340 50 | 50 | 10 76 11 63 58 10 6 56 M6 38 3 88(85) 4
FD2005—3 20 5 35 19 3 9000 7000 536 36 | 36 | 10 | 60 11 48 58 10 6 40 M6 25 3 86(83) 5
FD2500—3 25 5 35 24 3 10600 22300 657 40 | 40 | 10 66 11 53 58 10 6 46 M6 30 3 86(83) 5
FD3205—3 32 5 35 31 3 12400 30100 826 50 | 50 | 10 82 13 67 7 12 7 62 M6 38 3 88(85) 5
FD3205—5 32 5 35 31 5 19200 50200 1346 50 | 50 | 10 82 13 67 7 12 7 62 M6 38 3 108(105) 5
FD4005—3 40 5 35 39 3 14300 40600 1025 60 | 60 | 10 | 94 15 75 9 15 9 74 M6 48 3 90(87) 5
FD4005—5 40 5 35 39 5 22200 67600 1671 60 | 60 | 10 | 94 15 75 9 15 9 74 M6 48 3 110(107) 5
FD5005—3 50 35 49 3 16000 52300 1213 71 | 71 15 110 15 90 9 15 9 84 M8x 60 3 90(87) 5
FD5005—5 50 5 35 49 5 24900 87200 1981 71 | 71 15 110 | 15 90 9 15 9 84 M8x 60 3 110(107) 5
FD2506—3 25 6 4 239 3 11800 23700 636 40 | 40 | 10 66 11 53 58 10 6 46 M6 30 3 100(97) 6
FD3206—3 32 6 4 309 3 14500 33700 839 50 | 50 | 10 82 13 67 7 12 7 62 M6 38 3 102(99) 6
FD3206—5 32 6 4 309 5 22500 56200 1367 50 | 50 | 10 82 13 67 7 12 7 62 M6 38 3 126(123) 6
FD4006—3 40 6 4 389 3 16500 43800 1017 60 | 60 | 10 | 94 15 75 9 15 9 74 M6 48 3 104(101) 6
FD4006—5 40 6 4 389 5 25600 73000 1658 60 | 60 | 10 | 94 15 75 9 15 9 74 M6 48 3 128(125) 6
FD5006—3 50 6 4 489 3 18700 57200 1224 71 | 71 15 110 15 90 9 15 9 84 M8x 60 3 104(101) 6
FD5006—5 50 6 4 489 5 28900 95400 1997 71 71 | 15 | 110 | 15 90 9 15 9 84 M8x 60 3 128(125) 6
FD5008—3 50 8 5 48.6 3 25000 69500 1269 75| 75 15 118 18 95 11 18 11 90 M8x 60 5 131(126) 6
FD5008—5 50 8 5 48.6 5 38800 115800 2069 751 75 | 15 | 118 | 18 95 11 18 11 90 M8x 60 5 163(158) 6
FD6308—4 63 8 5 61.6 4 36200 121100 2018 9 | 90 | 20 | 132 18 | 110 11 18 11 104 M8x 75 5 147(142) 6
FD6308—5 63 8 5 61.6 5 43900 151300 2499 9 | 90 | 20 | 132 | 18 | 110 11 18 11 | 104 M8x 75 5 163(158) 6




291

R

i A i@ J N N | N Di| D || D |B| Di| Ds | Ds| h| Dy M Dy | T L E
FD3210—3 32 10 | 7144 | 30 25600 | 49500 m 53053 (1509|157 9 |15 9| 7 M6 4 | 6 | 150(144) 6
FD3210—5 32 10 | 7144 | 30 39700 | 82500 1256 | 53 | 53 [15] 9 [15| 7 9 |15 9| 7 M6 42 | 6 | 190(184) 6
FD4010—3 40 10 | 7.144 | 38 31100 | 65900 973 63 | 63 | 15| 108 | 18| 8 | 11 | 18 | 11 | 8 M6 50 | 6 | 1533147) 6
FD4010—5 40 10 | 7.144 | 38 48200 | 109800 1585 | 63 | 63 | 15| 108 | 18 | 8 | 11 | 18 | 11 | 85 M6 50 | 6 | 1933187 6
FD5010—3 50 10 | 7144 | 48 38300 | 92800 1273 | 75 | 75 [ 15| ug [ 18| 95 | 11 |18 [ 11| 90 | M8x1 | 60 | 6 | 153(147) 6
FD5010—5 50 10 | 7144 | 48 59300 | 154600 2075 | 75 | 75 | 15| 18 | 18| 95 | 11 | 18 | 11| 90 | M8x1 | 60 | 6 | 193(187) 6
FD6310—4 63 10 | 7144 | 61 56000 | 160200 2023 | 90 | 90 | 20| 138 [ 22| 12| 135|213 |112| M8x1 | 75 | 6 | 1771171) 6
FD6310—5 63 10 | 7144 | 61 67800 | 200200 2505 | 90 | 90 | 20 | 138 [ 22| 12| 135 | 22 | 13| 112 | M8x1 | 75 | 6 | 197(191) 6
FD8010—4 80 10 | 7144 | 78 56200 | 218200 2479 | 105 | 105 | 20 | 156 | 22 | 130 | 135 | 22 | 13| 130 | M8x1 | 90 | 6 | 182(176) 11
FD8010—5 80 10 | 7144 | 78 79000 | 273000 3070 | 105 | 105 | 20 | 156 | 22 | 130 | 135 | 22 | 13| 130 | M8x1 | 90 | 6 | 202(19) 11
FD6312—4 63 12 | 7144 | 6l 55900 | 160000 2049 90 | 90 |20 | 138 | 2| 12| 135 | 2| 13| 12| M8x1 | 75 | 7 | 207200 7
FD6312—5 63 12 | 7144 | 6l 67800 | 200100 2537 9 | 90 |20 | 138 | 2| 12| 135 | 2| 13| 112 | M8x1 | 75 | 7 | 231224 7
FD8012—4 80 12 | 7144 | 8 65200 | 218000 2566 110 | 110 | 25 | 158 [ 22| 132 | 135 | 22 | 13| 132 | M8x1 | 95 | 7 | 213206 | 13
FD8012—5 80 12 | 7144 | 79000 | 272600 3177 10 | 110 | 25 | 158 [ 22| 132 | 135 | 22 | 13| 132 | M8x1 | 95 | 7 | 237230) | 13
FD8016—4 80 16| 10 | 772 97900 | 285000 2681 18 | 118 | 30 | 168 | 28 | 140 | 135 | 22 | 13 | 140 | M8x1 | 95 | 9 | 275266) | 10
FD8016—5 80 16| 10 | 772 118600 | 356200 3241 118 | 118 | 30 | 168 | 28 | 140 | 135 | 22 | 13 | 140 | M8x1 | 95 | 9 | 307298) | 10
FD10020—4 100 20| 10 | 972 111400 | 370200 3214 | 140 | 140 | 40 | 202 | 28 | 170 | 175 | 28 | 17 | 170 | M10ox 1 | 115 | 12 | 338(326) | 12
FD10020—5 100 20| 10 | 972 134900 | 462700 3979 | 140 | 140 | 40 | 202 | 28 | 170 | 175 | 28 | 17 | 170 | M10ox 1 | 115 | 12 | 378366) | 12

1.G 10° e
2. R F=0.1G, F= 03G, F#01G R =R ﬁ”[o.lca}
3. far 1 Jar=06 2 3 Jar=055 4 5 fw=05 7 10 Jar=04



